AP Statistics — 6.2B Name:

Goal: Combining Random Variables Date:

|. Example #1: CYU (page 370):
* Always state what your random variables are and distributions given:
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. Example #2: CYU (page 372):

» Define random variables. X, Y and B were Defined in Example 1
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Rules for Combiming Random Variable (p365 and 367)

Independent Random Variable (p365)




. Example #3

Random variables. Given independent random var: |
ables with means and standard deviations as shown, find
the mean and standard deviation of:
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V. Exampled “dpples”
Sl}ppose that the weights of a certain variety of apples have weights that are approximately Normally distributed
with a mean of 9 ounces and a standard deviation of 1.5 ounces. If bags of apples are filled by randomly selecting
12 apples, what is the probability that the sum of the weights of the 12 apples is less than 100 ounces?
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Vi. Example 3 “Speed Dating”

Suppose that the height M of male speed daters follows a Normal distribution with a mean of 70 inches and a
standard deviation of 3.5 inches and the height F of female speed daters follows a Normal distribution with a
mean of 65 inches and a standard deviation of 3 inches. What is the probability that a randomly selected male
speed dater is taller than the randomly selected female speed dater with whom he is paired?
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